 Economics Problem Set #1.—Due Friday, October 13, 2006

Please type up your answers. Staple all pages together. Give succinct but substantive answers. 

 Answer all 

1) Select two  of the  figures that appear in Chapter 1, from 1.1-1.6, 1.8-1.9 (not 1.7) in Understanding Capitalism.
    A. What point/idea are the authors trying to support with the figure/chart they present and you   

        chose?

    B. For the two figures, does the data they present support their claim? Explain!!

    C. For your examples, what are some limitations in the data they present, point they are trying   to make?

2. Looking and using Table 3.1 on page 68, explain some of the main differences between the authors perspective on neoclassical economics and on political economy. Why is neoclassical economics the main form of economics that is taught and used? 

3. Chapter 4 discusses six economists, see p. 71. On page 70-71, it says: “Had they met…, they would have agreed on some things and disagreed on others”. On what would they have agreed, disagreed? Pick one or two important issues and show what stand they would have likely taken, e.g., homelessness, global warming, racial discrimination, global inequality, unemployment? 

(Examine  five out of the six)

4. Define the concept of surplus and then discuss the paragraph at the bottom of P. 94, “how the surplus arises, the size of the surplus, who controls it, …  supports a flourishing life for all of its people”.   

5. Consider a society producing a single good, grain. They are 100 families, each using an identical production function. To produce a bushel of grain, requires 0.2 bushels of seed, and

40 hours  of labor.. The crop, when produced is owned by a small number of families who employ the 100 families. Grain producing workers are paid, .02 bushels/hour, which is consumed by the entire family. Each family works 2000 hours a year, divided equally between grain growing and child rearing, i.e., 1000 hours are devoted to grain growing, 1000 hours a year to child rearing,. 

A. How much surplus is produced? Is there an exploiting class?

B. The grain  producers discover a new seed, which only requires .1 bushel to yield a

      bushel. If all the other data remains unchanged, is there now a surplus? an exploiting                    

      class? Explain!!

C. The owners of  the grain, now develop a new process where they need only .1 bushel     

       of seed and 5 hours of labor per bushel. Assume there is still the same work for all of  

                    the families.  What is the  new surplus. What’s happening to income inequality in     this society between part A and part C? 

D. Is there conflict between the interests of the producing workers and the owners of the 

     Land? How could the producing workers increase their income?

6. Select one article from Chapter 1 or 3 of Real World Micro. Explain its economic and social relevance and implications? How would a neoclassical economist criticize this article? How would the author respond? Whom do you agree with more? Why?

